
R0019207 Upgrade SR Axis Spigot

Upgrade to enhance mechanical connection between drive spigot and SR gearbox. Upgrade to allow removal of SR gearbox

ef ciently

Introduction
This upgrade utilises upgraded parts to ensure a mechanical  x is maintained between the SR axis gearbox and main drive pin , whilst also

giving the ability once upgraded for the gearbox to be removed with minimal mechanical time.

three main parts will be replaced in this upgrade, obsoleting the removed parts

Main components of upgrade

D00004019E Turntable Mk5

D0004033E Alignment disc Mk5

D0004147E Turntable shaft Mk5

Hard 8 hour(s) Dif culty  Duration

Contents

Introduction

Step 1 - Disconnect Saw cut cylinder connections

Step 2 - Disconnect Saw head guards, chutes and ancillary parts

Step 3 - Relocate Motor assembly

Step 4 - Main saw head disconnections

Step 5 - Remove saw head from turntable

Step 6 - Turntable plate removal

Step 7 - Lower turntable disconnections

Step 8 - Lower turntable disconnections

Step 9 - Spigot pin removal

Step 10 - Gearbox dowel pin  tting

Step 11 - Re tting bearing housing

Step 12 - Fitment of alignment parts

Step 13 - Fit Sr axis gearbox

Step 14 - Greasing

Step 15 - Fit turntable plate

Step 16 -

Step 17 - Fit Sr axis gearbox

Step 18 - Greasing

Step 19 - Fit turntable plate

Step 20 - Rebuild

Comments

Page 1 / 28



Step 1 - Disconnect Saw cut cylinder connections
1 Disconnect saw cut reed switches. Mark position of bracket before removal to aid re-assembly

2 Disconnect saw cut cylinder air pipes

3 Disconnect saw cut cylinder piston rod as shown

Page 2 / 28

https://stuga.dokit.app/images/thumb/c/c4/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0000.jpg/ia-bec82c089d67ae26f08befffd8d77115-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0000.jpg.png
https://stuga.dokit.app/images/thumb/3/30/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0043.jpg/ia-a5fb80b82fbd1b7927ce0be5b147f0fc-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0043.jpg.png


Step 2 - Disconnect Saw head guards, chutes and ancillary parts
1 Remove saw blade

2 Remove saw cut damper buy removing 2 off m6 grubscrews and then retracting 2 off location pins

3 Remove top semi circular guard with slit strips attached, remove swarf chute and supporting T bracket

4 Remove top brace bar located on top of saw cut shafts as shown

5 Remove saw motor belts

Page 3 / 28

https://stuga.dokit.app/images/thumb/0/07/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0002.jpg/ia-3ec4e457ca1e3fc9d8ab915058a65732-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0002.jpg.png


Page 4 / 28

https://stuga.dokit.app/images/thumb/6/62/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0027.jpg/ia-f0edac36db952acae2b6030d816db6c0-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0027.jpg.png
https://stuga.dokit.app/images/thumb/6/62/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0069.jpg/ia-ea85534293c75f111adf00666f34912e-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0069.jpg.png
https://stuga.dokit.app/images/thumb/7/75/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0066.jpg/ia-209c3ca93b62c0515ab24437be8634e7-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0066.jpg.png
https://stuga.dokit.app/images/thumb/1/14/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0054.jpg/ia-2fb95332ffa0d18780b0efd493a0929f-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0054.jpg.png


Step 3 - Relocate Motor assembly
Saw motor with mounting plate will now need removing from the saw head assembly

1 Disconnect saw anaconda as shown

2 Whilst supporting the saw motor, remove the 3 off m8 cap heads and swing the saw motor assembly and attach the frame , and secure for

safe working

Page 5 / 28

https://stuga.dokit.app/images/thumb/0/08/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0044.jpg/ia-2bf362ce9f1d298a505f9b461cb281e6-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0044.jpg.png


Page 6 / 28

https://stuga.dokit.app/images/thumb/8/8a/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0058.jpg/ia-1967a332e46f66324ad5e103baf6b37c-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0058.jpg.png
https://stuga.dokit.app/images/thumb/9/9b/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0047.jpg/ia-a54f4bfd37d6bed05f62e33332260313-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0047.jpg.png




Step 4 - Main saw head disconnections
1 Remove 6 of M8 caps heads from underneath main saw mount plate (3 per side )

2 Remove 2 off m8 grubscrews locating saw cut shafts to turntable base

Do not remove any other  xings on the saw head assembly when extracting. These 8 off  xings are all that are required to be

removed, any additional  xings removed will compromise structure of assembly, and also mean that saw 90 degree vertical position

will have to be manually reinstated once the upgrade has been completed

3 The head assembly can then be removed by levering the base of the two saw cuts shafts , pushing them upwards to release the complete

head assembly from the turntable base

Page 7 / 28

https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0042.jpg


Page 8 / 28

https://stuga.dokit.app/images/thumb/3/3e/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0032.jpg/ia-cbcc9879e4ad535835d15d0bda099d51-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0032.jpg.png
https://stuga.dokit.app/images/thumb/8/8e/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0061.jpg/ia-01821ec9cf2891e2663e7f4266c66167-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0061.jpg.png


Page 9 / 28

https://stuga.dokit.app/images/thumb/9/99/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0040.jpg/ia-a4601ba62583418fa5cfff1ea8cd052f-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0040.jpg.png
https://stuga.dokit.app/images/thumb/4/4a/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0062.jpg/ia-dd0be1d8ce5ef88db071e22d27f38746-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0062.jpg.png


Page 10 / 28

https://stuga.dokit.app/images/thumb/2/2e/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0052.jpg/ia-f91db64a3ecb189d01ff2611a4e0fb01-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0052.jpg.png




Step 5 - Remove saw head from turntable
Once the assembly is disconnected it can be removed and allow access to the turntable base as shown

...This assembly will require a two person lift to remove from main saw area

Page 11 / 28

https://stuga.dokit.app/images/thumb/d/d2/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0051.jpg/ia-98338ec7bd8aa9ceb127b266ca6c4217-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0051.jpg.png
https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0063.jpg
https://stuga.dokit.app/images/thumb/c/c7/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0059.jpg/ia-b84eaca062dfede0ba1eaff4156474f9-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0059.jpg.png


Step 6 - Turntable plate removal
1 Remove the m8 caps from the top face off the turntable plate, along with the 4 off m4 caps. The remaining 8mm dowels visible cannot be

extracted, but will be released once the turntable plate is removed.

2 To remove the plate , use leverage to force the plate up evenly, to expose the main bearing and alignment disc below

3 Now the top section of the main bearing and alignment disc can be lifted off, exposing the bores to access the gearbox  xings.

4 Remove the m6 cap head bolts as shown

Page 12 / 28

https://stuga.dokit.app/images/thumb/8/8c/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0035.jpg/ia-a473c7542dd51c772c5e2ca36a4f151a-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0035.jpg.png
https://stuga.dokit.app/images/thumb/e/e8/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0059_-_Copy.jpg/ia-6bdd2d98b230939c7bb645f9b7ef6c66-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0059_-_Copy.jpg.png
https://stuga.dokit.app/images/thumb/7/76/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0024.jpg/ia-612dffe3d8b38cd5b59c80eed55d2931-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0024.jpg.png
https://stuga.dokit.app/images/thumb/9/96/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0065.jpg/ia-1585cbd34fc270a406a0198adc71ece8-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0065.jpg.png


Page 13 / 28

https://stuga.dokit.app/images/thumb/f/f3/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0031.jpg/ia-bf9d4a262ec51a6e2cea3aa40db3515b-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0031.jpg.png


Step 7 - Lower turntable disconnections
1 Disconnect the servo motor plug

2 Disconnect (if present) the m8 sensor plug

3 Remove m5  xings around gearbox mounting ;ange to allow the gearbox and motor to be removed

Page 14 / 28

https://stuga.dokit.app/images/thumb/d/d7/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0060.jpg/ia-a5f76680d72a2282def707f1ee8b30ff-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0060.jpg.png
https://stuga.dokit.app/images/thumb/6/6e/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0034.jpg/ia-555cea0155e27bfd17ecec2150bf4ab8-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0034.jpg.png
https://stuga.dokit.app/images/thumb/e/eb/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0030.jpg/ia-56355c86fffbcb45f8449a06900a36df-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0030.jpg.png
https://stuga.dokit.app/images/thumb/6/66/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0056.jpg/ia-969dc1542137c58688398825b7554e4d-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0056.jpg.png
https://stuga.dokit.app/images/thumb/7/7f/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0050.jpg/ia-56b59269a9c3c7902537b268b1fc4f28-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0050.jpg.png


Step 8 - Lower turntable disconnections
1 Remove stainless inspection cover

2 Remove 6 off m8 cap heads

3 Main turntable housing can now be removed, by lifting upwards through the main bottom plate

Step 9 - Spigot pin removal
1 Remove hard stop, attached with 1 off m10 bolt and 2 off 5mm dowels

2 Remove internal circlip that captivates the centre thrust bearing

3 Remove bearing and spigot assembly as one from within the main bearing housing, and then remove bearing from the spigot shaft

Page 15 / 28

https://stuga.dokit.app/images/thumb/4/4c/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0025.jpg/ia-01075ea4bdd47bf08b9506c341e50669-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0025.jpg.png
https://stuga.dokit.app/images/thumb/5/53/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0004.jpg/ia-6f02a312ea6588ec99d68653880595eb-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0004.jpg.png
https://stuga.dokit.app/images/thumb/7/73/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0005.jpg/ia-ae3091b742b41143d13f69f16526795f-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0005.jpg.png
https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0028.jpg


Page 16 / 28

https://stuga.dokit.app/images/thumb/c/c8/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0017.jpg/ia-2701f9b7b5c63d9d4526b20c17637cfe-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0017.jpg.png
https://stuga.dokit.app/images/thumb/2/22/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0020.jpg/ia-2293574a18bd066acbae03918a747de5-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0020.jpg.png
https://stuga.dokit.app/images/thumb/f/fa/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0038.jpg/ia-080552a2153711bd241d44dddf0b46c8-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0038.jpg.png
https://stuga.dokit.app/images/thumb/1/19/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0037.jpg/ia-fcfa8e5a55f2e61d31c5b59b03af6f54-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0037.jpg.png






Step 10 - Gearbox dowel pin  tting
1 Fit 2 off m6 shoulder bolts to opposing m6 holes on gearbox mounting face and glue with loctite 270 permanent adhesive

2 Remove heads of shoulder bolts once tight

3 Deburr cut dowels

4 Test  t onto new d0004147E spigot shaft

5 Re t thrust bearing to main saw turntable housing and re t circlip

...Correct orientation of thrust bearing is paramount, Large inner face of bearing should face the gearbox side of the assembly

6 Fit spigot shaft back into thrust bearing .

...If the  t is not resistive, use degreaser and bearing  t to the two mating faces to ensure correct operation of the bearing

7 Re t hard stop to assembly

Page 17 / 28

https://stuga.dokit.app/images/thumb/3/3a/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0011.jpg/ia-fe7ab9ff2858e1dea80c775e6de7b8cd-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0011.jpg.png
https://stuga.dokit.app/images/thumb/f/fe/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0012.jpg/ia-b40a8927139fd8a0c8e2d16cb2d8d4e0-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0012.jpg.png
https://stuga.dokit.app/images/thumb/e/ef/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0007.jpg/ia-7341fd3b39f7aecf57e1505e9f11b07c-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0007.jpg.png
https://stuga.dokit.app/images/thumb/5/5a/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0019.jpg/ia-6faeea8aa92a33d01756e38807c50131-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0019.jpg.png


Step 11 - Re tting bearing housing
Re t bearing housing assembly to main plate

Step 12 - Fitment of alignment parts
1 Assemble alignment disc to bearing outer . Hold in place with slightly tensioned M4 caps

2 Use an 8mm reamer to check holes will accept an 8mm dowel through both parts

3 Fit bearing outer cage onto alignment disc

Page 18 / 28

https://stuga.dokit.app/images/thumb/c/c0/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0036.jpg/ia-9300fc39a6f004471ab0cd05bba5d748-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0036.jpg.png
https://stuga.dokit.app/images/thumb/5/53/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0004.jpg/ia-7cdd81e724ecb7545cc16ebd3969e13f-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0004.jpg.png


Page 19 / 28

https://stuga.dokit.app/images/thumb/7/77/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0001.jpg/ia-2e9d7dc32f59b995555c3f08bbe505c0-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0001.jpg.png
https://stuga.dokit.app/images/thumb/6/60/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0039.jpg/ia-2bdfbcc3a3ef9db445b5cb323fe6caa3-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0039.jpg.png


Page 20 / 28

https://stuga.dokit.app/images/thumb/8/8b/R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0026.jpg/ia-8b458c7c878afa96f03d8784444c3c57-1000px-R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0026.jpg.png


Step 13 - Fit Sr axis gearbox
Connect the gear box , using the 2 dowels on the gearbox as location, then using 4 off m6 x 20 blackadised unbrako bolts, loctite 243 and

M0001176 4 off stainless lock washers to connect the parts together. Torque setting on 15nm should be used to set these m6 bolts

Re t m5 Fixings to lower gearbox ;ange from underneath turntable

Step 14 - Greasing
Thoroughly grease both bearings as this is a sealed for life unit. Liberal application of M0000494 grease is required

Step 15 - Fit turntable plate
Place turntable plate D4019E onto greased assembly , and  t 4 off 8mm dowels to  x all three new addition parts together.

Then apply adhesive to m4 caps and tighten.

Lastly  x with 4 off m14 bolts and a form washers to  nalise turntable plate into position

Check rotation is smooth by hand by turning the turntable plate and check the range of movement is correct

Page 21 / 28

https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0033.jpg
https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0056.jpg


Page 22 / 28

https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0014.jpg
https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0013.jpg


Step 16 -
Assemble alignment disc to bearing outer . Hold in place with slightly tensioned M4 caps

Use an 8mm reamer to check holes will accept an 8mm dowel through both parts

Page 23 / 28

https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0021.jpg


Page 24 / 28

https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0001.jpg
https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0041.jpg


Page 25 / 28

https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0026.jpg
https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0039.jpg


Step 17 - Fit Sr axis gearbox
Connect the gear box , using the 2 dowels on the gearbox as location, then using 4 off m6 x 20 blackadised unbrako bolts, loctite 243 and

M0001176 4 off stainless lock washers to connect the parts together. Torque setting on 15nm should be used to set these m6 bolts

Re t m5 Fixings to lower gearbox ;ange from underneath turntable

Step 18 - Greasing
Thoroughly grease both bearings as this is a sealed for life unit. Liberal application of M0000494 grease is required

Step 19 - Fit turntable plate
Place turntable plate D4019E onto greased assembly , and  t 4 off 8mm dowels to  x all three new addition parts together.

Then apply adhesive to m4 caps and tighten.

Lastly  x with 4 off m14 bolts and a form washers to  nalise turntable plate into position

Check rotation is smooth by hand by turning the turntable plate and check the range of movement is correct

Page 26 / 28

https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0033.jpg
https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0056.jpg


Page 27 / 28

https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0014.jpg
https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0013.jpg


Step 20 - Rebuild
Use steps 5-1 to complete the reassembly of the main components back onto the module

Page 28 / 28

https://stuga.dokit.app/wiki/Fichier:R0019207_Upgrade_SR_Axis_Spigot_IMG-20230301-WA0021.jpg

	R0019207 Upgrade SR Axis Spigot
	Contents
	Introduction
	Step 1 - Disconnect Saw cut cylinder connections
	Step 2 - Disconnect Saw head guards, chutes and ancillary parts
	Step 3 - Relocate Motor assembly
	Step 4 - Main saw head disconnections
	Step 5 - Remove saw head from turntable
	Step 6 - Turntable plate removal
	Step 7 - Lower turntable disconnections
	Step 8 - Lower turntable disconnections
	Step 9 - Spigot pin removal
	Step 10 - Gearbox dowel pin fitting
	Step 11 - Refitting bearing housing
	Step 12 - Fitment of alignment parts
	Step 13 - Fit Sr axis gearbox
	Step 14 - Greasing
	Step 15 - Fit turntable plate
	Step 16 -
	Step 17 - Fit Sr axis gearbox
	Step 18 - Greasing
	Step 19 - Fit turntable plate
	Step 20 - Rebuild


